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Q.17 Which is the following is the latest legislation passed by the Indian Parliament for people
with disability?
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Act
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Q.22 Sana learnt to hold a glass and a bottle before she could hold a pen or button her shirt.
This example indicates that -

Options 1. Development is unidimensional.

2. Direction of development is cephalo -caudal.
3. Direction follows a random pattern.

4. Direction of development is proximo - distal.
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Q.5 Anees has given a group project to his students to classify different geometrical shapes. Which of the
following assessment techniques will be best suitable to assess students' performance in this project?
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